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Jharkhand Police Set - C

1) Which of the following kingdoms granted the “"Golden Farman” to English in 1632, to trade freely
in the state ?

a9 A 5w T A 1632 # T U A AR 31 & A it S "ieed Wi yeH fear ur?
[Question ID = 314311]

1. Golkunda / Tﬁﬂﬁ [Option ID = 1191660]
2. Pune / 901 [Option ID = 1191661]

3. Mumbai / 3 [Option ID = 1191662]

4., Lucknow / T@13 [Option ID = 1191663] w

Correct Answer :-
« Golkunda / TieighaT [Option ID = 1191660]

2) The Treaty of Salbai was signed on May 17, 1782, is associated with which of the following wars?

17 7$, 1782 T FaETs ®1 WY WX gwieR fHe T, 30 | o1 | g Faffaa S aergen @2
[Question ID = 314312]

1. First Anglo-Maratha War / Ugdl UTl-FR13T g5 [Option ID = 1191664]

2. Second Anglo-Maratha War / ¢&x1 tﬂt-h-mga [Option ID = 1191665]
3. Second Anglo-Mysore War / mwﬁﬂﬁ'ﬁ? g5 [Option ID = 1191666]
4. First Anglo—Mysore War / usm@aﬁ-ﬁﬁz Y& [Option ID = 1191667]

Correct Answer :-
s First Anglo-Maratha War / Ugdil WEl-TRI3T g [Option ID = 1191664]

3) Which of the following is also known as Magna Carta of Indian Education?

frafafaa & & f5a yrd Rien & #w $1ef $ am @ +ft S 91T 82 [Question ID = 314313] |

1. Sadler Commission / ST FHIIA [Option ID = 1191668]

2. Indian Universities Act 1904 / WReitd fayfaerer SfafAaw 1 9 04 [Option ID = 1191669]
3. Raleigh commission / I 2w [Option ID = 1191670]

4. Wood's Despatch / 84 e [Option ID = 1191671]

Correct Answer :-
« Wood's Despatch / 54 f&¥a [Option ID = 1191671]

4) Who among the following was an influential minister and the statesman of the Maratha Empire
during the Peshwa administration, also known as Maratha Machiavelli?
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1. Nana Phadnavis / AT BaUEGN [Option ID = 1191672]

2. Devendra Phadnavis / $d% eUHIN [Option ID = 1191673]
3. Nana Patekar / FIIFIl Ui¢dhR [Option ID = 1191674]

4. Umrao [/ 3HIG [Option ID = 1191675]

Correct Answer :-
« Nana Phadnavis / T TS U [Option ID = 1191672]

_________________________________________________________________________________________________________________________________________ -

5) Which one of the following Viceroy passed the famous Indian Coinage and Paper Currency act
(1899)?

frafafEa ¥ 3 g aramm 3 wfbs yRdta R siv duw ger siftf~aw (18 99) ure fFam? [Question ID
= 314315]

1. Lord Minto / I8 T8l [Option ID = 1191676]

2. Lord Hardinge / TS g1fST [Option ID = 1191677]
3. Lord Curzon / @18 @9 [Option ID = 1191678]

4. Lord Dufferin / @8 SWRA [Option ID = 1191679]
Correct Answer :-

« Lord Curzon / €18 ®vi- [Option ID = 1191678]

6) Lord Ripon appointed Hunter commission on February 3, 1882 for

TS U1 7 3 BRadl, 1882 Hi ge¥ FUIRA & fore e fomam)
[Question ID = 314316]

1. Combating terrorism and other anti-national activities / 3fd@dle &1 HebTadl HI AR AP faish nfafafiai 1
HebIel BT [Option ID = 1191680]

2. Educational reforms in India / YRd § Al JUR [Option ID = 1191681]

3. Appointment of Indian Judges in higher judiciary / 3= <grUTeIdhT # YR graneisil &t g [Option 1D =
1191682]

4, None of the Above / 370 ¥ @I i =TT [Option ID = 1191683]

Correct Answer :-
« Educational reforms in India / HRd H Afér JUR [Option ID = 1191681]

7) Who was the only Viceroy of India to be murdered in office?

"HIRd § THHE |IEWRIT 919 3§ e srafaa # gar 3 & fi? [Question ID = 314317]

1. Lord Mayo / ©lS | [Option ID = 1191684]

2. Lord Auckland / @i 3{f&ds [Option ID = 1191685]
3. Lord Lawrence / @is @Ry [Option ID = 1191686]

4, Lord Northbrook / @18 Arige [Option ID = 1191687]

Correct Answer :-
« Lord Mayo / €8 W [Option ID = 1191684]
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o & | fFw argeRm A gAfeger 39 uee @R 1878 ¥ 3 sifufaaw %t wifva far 82 [Question ID =
314318]

1. Lord Mayo / @I HIET [Option ID = 1191688]

2. Lord Auckland / @7 &S [Option ID = 1191689]
3. Lord Lawrence / @i @ixd [Option ID = 1191690]
4, Lord Lytton / @IS feTe- [Option ID = 1191691]

Correct Answer :-
« Lord Lytton / Tis fere [Option ID = 1191691]

9) The Union government has recently launched “Jiyo Parsi Publicity Phase-2" scheme in which one
of the following state?

¥ WoR A 71 8 F "Rl ur waR Twor -2 Qe 3 91 2 o Frafiiaa § @ te 199 22 [Question
ID = 314319]

1. Uttar Pradesh / 9T Ua¥I [Option ID = 1191692]
2. Maharashtra / HERIE [Option ID = 1191693]

3. Punjab / USTTd [Option ID = 1191694]

4. Gujarat / T[SRId [Option ID = 1191695]

Correct Answer :-
» Maharashtra / HeRIY [Option ID = 1191693]

10) Which one of the following has been appointed as the part-time member of the board of
Insurance Regulatory and Development Authority of India (IRDA)?

frafafaa # @ Fa s R TR T Sgawic il 3w i3 (erdamdin) & 1€ & smeifae
Wew & ¥ ¥ fargea {1 7741 82 [Question ID = 314320]

1. Ravi Mittal / Xfd f8rie [Option ID = 1191696]
2. Sunil Mittal / gritel fA<e [Option ID = 1191697]
3. Raj Mittal / IS f8iel [Option ID = 1191698]
4, Hasan Mittal / 89 fBr<iel [Option ID = 1191699]

Correct Answer :-
« Ravi Mittal / 3fd fore [Option ID = 1191696]

11) Which Indian sportsperson has won bronze in the Under-7 rapid championship at the 2017
Asian Schools Chess Championship (ASCC)?

2017 TRATE ¥Hd ade AAgRT (TuaA) # 9 yRdta st 3 siew -7 i Ifg=aRn & sia
ST 4T? [Question ID = 314321]

1. Rajendra Patil / Il UIéid [Option ID = 1191700]
2. Rajeev Patil / Xrsild Uréia [Option ID = 1191701]
3. Sanjeev Patil / TGild Urfes [Option ID = 1191702]
4, Aditya Patil / 3fecd QIR [Option ID = 1191703]

Correct Answer :-
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12) Which one of the following Indian state share the longest land border with Bhutan?

fPrafafae yrdha tea § @ S 91 Yo & ary ga@ dat yfi S 91En 391 82 [Question ID = 314322]

1. Assam / 3{§H [Option ID = 1191704]

2. Sikkim / Rifdd [Option ID = 1191705]

3. Arunachal Pradesh / 31¥UIId USRI [Option ID = 1191706]
4, West Bengal / f3H & [Option ID = 1191707]

Correct Answer :-
« Assam /[ 3[9H [Option ID = 1191704]

13) What s the India’s rank in the 2017 Digital Evolution Index (DEI) among 60 countries?

60 &3 & dta 2017 fEfored saiegmA 529 (FiEems) H URd Ft ¥& FT €2 [Question ID = 314323]

1. 54th / 54 d [Option ID = 1191708]
2. 53rd / 53 d [Option ID = 1191709]
3. 29th / 29 d [Option ID = 1191710]
4, 35th / 35 d [Option ID = 1191711]
Correct Answer :-

« 53rd / 53 9 [Option ID = 1191709]

14) Which one of the following Indian state government has launched “Apni Gaddi Apna Rojgar”
scheme for jobless youth?

fFrafafad 7 @ fFg YR T WRER A RR garsi & forg st 1) S/ A9 R 9ieET 3= @1 82
[Question ID = 314324]

1. Uttar Pradesh / 3TR & [Option ID = 1191712]
2. Punjab / USTE [Option ID = 1191713]

3. Sikkim / fifdwH [Option ID = 1191714]

4, Gujarat / [eId [Option ID = 1191715]

Correct Answer :-

+ Punjab / UG [Option ID = 1191713]

15) Who has won the 2017 Formula One Hungarian Grand Prix tournament?

2017 Wigen a9 gifad 3 firay gafie fFwa sfar 82 [Question ID = 314325]

1. Valtteri Bottas / dlec<l &1¢HT [Option ID = 1191716]

2. Lewis Hamilton / ?ﬁﬂ MG [Option ID = 1191717]
3. Sebastian Vettel / §§ReT dg e [Option ID = 1191718]
4. Kimi Raikkonen / fo T8 J13& 144 [Option ID = 1191719]

Correct Answer :-
+ Sebastian Vettel / 95T 359 [Option ID = 1191718]
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frafafeg sréemrdd Jwim & A fa te o1 arTa 9 gt feeaey @1 enfawer f¥ar 8, s fodt srre
HPTE B ATaTaHd1 eial ¢ al STIS1GT $) Iara-it 3 &2 [Question ID = 314326]

1. IIT Bombay / 3ME3M$e! S1M [Option ID = 1191720]

2. IIT Madras / 3T33{Tsel A% [Option ID = 1191721]

3. IIT Indore / 3M33MTsel 3R [Option ID = 1191722]

4. TIT Kharagpur / 3TS3{TS¢] WSTYR [Option ID = 1191723]

Correct Answer :-
o IIT Kharagpur / Gﬂiﬂléél WYX [Option ID = 1191723]

17) Which one of the following city to host the 2024 Summer Olympics?

2024 TSI il F1 Aar $33 F fou Fafafaa # @ o1 91 W67 82 [Question ID = 314327]

1. Paris / UX¥ [Option ID = 1191724]

2. New Delhi / 713 f&weit [Option ID = 1191725]
3. London / 8 [Option ID = 1191726]

4, Bijing / ST [Option ID = 1191727)]

Correct Answer :-
« Paris / GR¥ [Option ID = 1191724]

18) Sam Shepard, the Pulitzer-winning playwright passed away. He hailed from which country?

9 AUTE, YRRroR ST TedeR 19 S & U ? [Question ID = 314328]

1. United States / ¥gdd Ied ARSI [Option ID = 1191728]
2. France / Wi  [Option ID = 1191729]

3. Germany / S [Option ID = 1191730]

4, Ttaly / Sail [Option ID = 1191731]

Correct Answer :-
+ United States / §ga 9 ARSI [Option ID = 1191728]

19) Who is the new Prime Minister of Pakistan?

i & ¢ YT At B9 §2 [Question ID = 314329]

1. Shahbaz Sharif / TMEEN IR [Option ID = 1191732]

2. Naveed Qamar / -TdI- &R [Option ID = 1191733]

3. Khaqan Abbasi / WI®I et [Option ID = 1191734]

4, Shahid Khagan Abbasi / Ifgg @l 3fsa[! [Option ID = 1191735]

Correct Answer :-
« Shahid Khagan Abbasi / Yifeg WHM et [Option ID = 1191735]

20) The Gangotri National Park (GNP) is located in which state?

T wte Sem (siteadh) f5w W # fRE 82 [Question ID = 314330]
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3. Assam / 34H [Option ID = 1191738]
4, Bihar / [d8R [Option ID = 1191739]

Correct Answer :-
« Uttrakhand / 3TRIES [Option ID = 1191737]

21) Frugal engineering is defined as the process of which one of the following:-

fraerdt geiifafar &) g & @ v @t ufsrar & ¥a A afvuriea far 7 8:- [Question ID = 314331]

1. Raising the profit of a firm by reducing labour and capital cost / $[H 3R qsrﬂ’ﬁ TN &1 Y TP Th BH Pl
MY 3STI [Option ID = 1191740]

2. Reducing the complexity and cost of a good and its production / T 3131 3R 3¥® JdIG &I Sifeddl 3R
NI D1 HH AT [Option ID = 1191741]

3. Accelerating the profit of a firm by adoption of science-based innovations / A 3mena FaER] &I A I
%1 FT A ST [Option ID = 1191742]

4. Increasing customer base by offering discounts to customers / ATg® &I P GH AlgD SATYR G¢HI [Option ID
= 1191743]

Correct Answer :-
« Reducing the complexity and cost of a good and its production / T& 33T 3R 3% I PI Seerdl 3R
AN Y HH BT [Option ID = 1191741]

22) Stambheshwar Mahadev temple is situated in which of the following state?

TR HETea wiew A wow #f @ o1 fRUT 82 [Question ID = 314332]

1. Arunachal Pradesh / 3{SUITEId UK [Option ID = 1191744]
2. Odisha / 3(IfS2T [Option ID = 1191745]

3. Assam [/ 3HH [Option ID = 1191746]

4, Gujarat / T[SRId [Option ID = 1191747]

Correct Answer :-
» Gujarat / ToRTd [Option ID = 1191747]

23) The Bhimbetka rock shelters are an archaeological site of the Palaeolithic period, It is located in
which of the following Indian state?

WiHesT A MYy NI Fe & RAae ®d &, 78 Fufaiad § ¥ 59 yRdia asa @ R 82
[Question ID = 314333]

1. Madhya Pradesh / & UdH [Option ID = 1191748]
2. Odisha / 3(If&2T [Option ID = 1191749]

3. Assam / 3{HH [Option ID = 1191750]

4. Gujarat / TSRTd [Option ID = 1191751]

Correct Answer :-
« Madhya Pradesh / ¢4 Ud¥ [Option ID = 1191748]
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I 2017 ® YA @1 ggait (Aent & o frarga Su-Rew fafmfor gfaw few wwr § wifta 36t g o9k
[Question ID = 314334]

1. Agra / 3I"IRT [Option ID = 1191752]

2. Lucknow / ©@-3; [Option ID = 1191753]

3. Hyderabad / 841G [Option ID = 1191754]
4, Ranchi / il [Option ID = 1191755]
Correct Answer :-

« Hyderabad / a31&1G [Option ID = 1191754]

25) wWhich country hosted 15" meeting of the Foreign Ministers of BIMSTEC countries?

fora a=r A fawre s 2=t & fad=r wfal @ 15 &f 9@ $ Asart @ A2 [Question ID = 314335]

1. Nepal / 91U [Option ID = 1191756]

2. India / 41 [Option ID = 1191757]

3. China / 99 [Option ID = 1191758]

4, Indonesia / $SIAfRMAT [Option ID = 1191759]
Correct Answer :-

« Nepal / 5UTd [Option ID = 1191756]

26) Which one of the following committee has recently submitted report on institutionalization of
arbitration mechanism in India?

fafafaa ¥ ¥ 5w ve afifa 3 ga €t S yRa & gwwEr 93 & GRINaEI W) RO 51 @ 82 [Question
ID = 314336]

1. CN Srikrishna committee / ¥¢- sfiwr GfAfd [Option ID = 1191760]
2. BN Srikrishna committee / U1 diwr AfAfd [Option ID = 1191761]
3. RL Srikrishna committee / 3R Ud 416wl WA [Option ID = 1191762]
4. KG Srikrishna committee / il 4i®01 Ff#fdT [Option ID = 1191763]

Correct Answer :-
« BN Srikrishna committee / st T 41 |iHifdl [Option ID = 1191761]

27) Which one of the following has been appointed as the new Ambassador of India to the Republic
of Kazakhstan?

fPrafifaa § @ o1 Ferawa TR ¥ Rw R ¥ ¢ g $ =9 # Frged far 7 22 [Question ID
= 314337]

1. Prabhat Kumar / WHId ©HR [Option ID = 1191764]
2. Subhod kumar / gHIE HHR [Option ID = 1191765]
3. Rajendra Kumar / I5ig $HR [Option ID = 1191766]
4, Ramesh Kumar / THSI PHR [Option ID = 1191767]

Correct Answer :-
» Prabhat Kumar / WHId ©HR [Option ID = 1191764]
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MINE platform to screen children for eye problems?

argwiNive sfear A fFufafes urda 3=l ° 3 59 v 9t 3ruA veng-3muiivg @ #Y &1 SUUN $31 &
fRre g & ariE Y aRwnel ¥ forg Iuaht +33 F fig SR a1 82 [Question ID = 314338]

1. Uttar Pradesh / 3R Ud ¥l [Option ID = 1191768]
2. Assam [ 3{HH [Option ID = 1191769]

3. Telangana / 9@THT [Option ID = 1191770]

4. Punjab / USTIE [Option ID = 1191771]

Correct Answer :-
+ Telangana / d&THT [Option ID = 1191770]

29) The Chimmini Wildlife Sanctuary (CWS) is located in which one of the following Indian state?

Frfirt a=reile enarvy (Wisegey) 59 yrdty g # fRa 82 [Question ID = 314339]

1. Kerala / ©Xd [Option ID = 1191772]

2. Assam [ 3{HH [Option ID = 1191773]

3. Telangana / d&i7THT [Option ID = 1191774]
4. Punjab / USIId [Option ID = 1191775]

Correct Answer :-
« Kerala / &3d [Option ID = 1191772]

30) Ankur Mittal is associated with which one of the following sports?

g i fFafafaa @@ o ¥ fFad 99fia 82 [Question ID = 314340]

1. Shooting / YfT [Option ID = 1191776]

2. Cricket / fohdie [Option ID = 1191777]

3. Football / Teald [Option ID = 1191778]

4, Basketball / §hedle [Option ID = 1191779]
Correct Answer :-

« Shooting / T [Option ID = 1191776]

Topic:- J1SSC_Set31_GSci

1) The part of alimentary canal which receives bile juice from the liver and stores it in gall bladder
is:-

STETR el BT 98 YT W 9Fd | firg v dar € o7 fim=ry o o1 $3a1 8 98 8:- [Question ID = 314611]

1. stomach / U2 [Option ID = 1192860]

2. oesophagus /9T [Option ID = 1192861]

3. small intestine / BIT 3{id [Option ID = 1192862]
4. pancreas / 9d [Option ID = 1192863]

Correct Answer :-
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2) Night blindness occurs when there is

wftaaaadigws__

[Question ID = 314612]

1. deficiency of vitamin B Complex / faefq &t Hiwciad &t HHT [Option ID = 1192864]
2. deficiency of iron / 3ITGRA &1 HHI [Option ID = 1192865]

3. deficiency of vitamin K / faeT®= & @1 &+ [Option ID = 1192866]

4, deficiency of vitamin A / fSeIfiF T &t &5} [Option ID = 1192867]

Correct Answer :-
« deficiency of vitamin A / feTi&F T &1 &4 [Option ID = 1192867]

3) Which of the following is not an insulator?

g ¥ &1 fdviae® 781 £2 [Question ID = 314613]

1. Rubber / 39S [Option ID = 1192868]
2. Wood / ©idel [Option ID = 1192869]
3. Graphite / 4T3 [Option ID = 1192870]
4, Bakelite / 9 a13¢ [Option ID = 1192871]

Correct Answer :-
« Graphite / A%T3¢ [Option ID = 1192870]

4) Which of the following is not a petroleum product?

79 | $H T USHAUH TG 81 82 [Question ID = 314614]

1. Kerosene / At &1 o [Option ID = 1192872]

2. Polyester / GITCTTRR [Option ID = 1192873]

3. Rayon / X4 [Option ID = 1192874]

4, Paraffin wax / ORI 4&T [Option ID = 1192875]

Correct Answer :-
« Rayon / ¥dH [Option ID = 1192874]

5) Identify the odd one out.

g W 3T Bt Ug9H $¢1 [Question ID = 314615]

1. Carbon dioxide / CACE| SAHRIZS [Option ID = 1192876]
2. methane / #1944 [Option ID = 1192877]

3. Sulphur dioxide / e SI33{IdH13S [Option ID = 1192878]
4. Ozone / 371 [Option ID = 1192879]

Correct Answer :-
« Sulphur dioxide / e SI3{IdISS [Option ID = 1192878]
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T8 9 1 9 N sifiear a3 w1ed A 9gd 82

[Question ID = 314616]

1. Spinach, curry leaves, carrot / Gleid>, &l I, TSR [Option ID = 1192880]
2. Rose, sugarcane, potato / 7[¢d, T4, 31¢] [Option ID = 1192881]

3. Coriander, brinjal, tulsi / ﬂﬁ?ﬂ, a'lF{, E],?I’Gﬁ [Option ID = 1192882]

4, Petunia, phlox, turnip / UgI, Teilad, e [Option ID = 1192883]

Correct Answer :-
» Rose, sugarcane, potato / TRITd, ITdT, 3{I¢f [Option ID = 1192881]

7) In the SI systems, the unit of P.E. Is

T 373 yomreht # it ot gord @
[Question ID = 314617]

1. erg / $3RSH [Option ID = 1192884]

2. dyne-cm / S19-HITH [Option ID = 1192885]

3.1/ d [Option ID = 1192886]

4. none of the above / T8 ¥ ®I3 =gl [Option ID = 1192887]

Correct Answer :-
« 1/ [Option ID = 1192886]

8) Two unequal masses possess the same K.E. Then, the heavier mass has:-

S SO AT 99 3.5, Ui € ot Sifte WK ad |/ | 98 §:-
[Question ID = 314618]

1. greater momentum /32X AT [Option ID = 1192888]

2. smaller momentum /&H TIfGHIA [Option ID = 1192889]

3. the same momentum as the lighter mass /®H godHM U = Tfd [Option ID = 1192890]
4, greater speed [ afa [Option ID = 1192891]

Correct Answer :-
s greater momentum /QEQ LIGEIE [Option ID = 1192888]

9) The speed of a motor car becomes six times, then the kinetic energy becomes:-

% Aie’ FR & 1fa T: 70 iftre gt 8, & nifest Fwif ga-it ghit:- [Question ID = 314619]

1. 6 times /6 9 [Option ID = 1192892]

2. 36 times /36 9R [Option ID = 1192893]
3. 12 times /12 9R [Option ID = 1192894]
4, 24 times /24 R [Option ID = 1192895]

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
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10) Atruck and a car are moving on smooth, level road such that the K.E. associated with them is
same. Brakes are applied to both of them simultaneously. Which one will cover a greater distance
before it stops?

TP g9 3R TP SR GHAd H5@ W TH S ¥61 § S 1Y ST 3% 961 ¢ | T aF1 A aR-aR} @ 5@ Y
WITE § | T9F P A Uga I s g au plt |

[Question ID = 314620]

1. Car / R [Option ID = 1192896]

2. Truck / €& [Option ID = 1192897]

3. Both will cover the same distance / 31 T &1 iﬂ T ST [Option ID = 1192898]
4, Nothing can be decided / %% i fAuf 8T feran o1 b1 [Option ID = 1192899]

Correct Answer :-
« Both will cover the same distance / I T gl gl deb ST [Option ID = 1192898]

11) No work is said to have been done when an object moves at an angle of with the
direction of the force.
Fel w11 & fF via $IE avg 7o 91 ez & w1y & HIU R Tl 8, 99 SIS P 6] [T STl

[Question ID = 314621]

1. 0° [Option ID = 1192900]

2. 90° [Option ID = 1192901]

3. 180° [Option ID = 1192902]

4, between 90° and 180° /90° 3R 180° & &iF [Option ID = 1192903]

Correct Answer :-
+ 90° [Option ID = 1192901]

12) Two spheres of the same size are made of the same metal, but one is hollow and the other is
solid. They are heated to the same temperature. Then,

TS Mg & S TR U 8t U & 99 & W TP Wi ¢ SR gl 319 | 3% U A argdq= § IRA
frarsrar g @),

[Question ID = 314622]

1. the hollow sphere will expand more /&@Rad &7 § 3ifdd fd¥dR 17 [Option ID = 1192904]

2. the solid sphere will expand more /314 &3 T 3{fd& faxIR 1T [Option ID = 1192905]

3. both spheres will expand almost equally /&Il &= TTHT SR HET H €671 [Option ID = 1192906]
4. only the solid sphere will expand /&dd 31 &7 & g7 [Option ID = 1192907]

Correct Answer :-

« both spheres will expand almost equally /S &= T SIS AET § T¢I [Option ID = 1192906]
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T araravuiia gHTE # 9159 9941 € | JITHH $1 96a e 396t urel #1 sl A A @ e € |
aredfievor o g¥ ghtt:-

[Question ID = 314623]

1. increase fdgd [Option ID = 1192908]

2. drop to zero /A WR ARSI U= [Option ID = 1192909]

3. decrease fUcd [Option ID = 1192910]

4, remain unaffected /[t 1} 741 & ghd [Option ID = 1192911]

Correct Answer :-
» increase /dgd [Option ID = 1192908]

14) A mercury thermometer, with a concave reflector behind the bulb, is placed in front of an
electric fire. Which of the following combinations will cause the smallest reading on the
thermometer?

TP IR & yAfdiey F) faorl 1 3m1 & e g7 & Wi ord Reey Iita @ sar g | 598 R oiF-41
P Yaiiier W™ g9 s Afgn am 2

[Question ID = 314624]

1. Black reflector, black bulb /&Tell RGP HIal ded [Option ID = 1192912]

2. Black reflector, shiny bulb /EFI?ITUTIEI?W YHP QR ded [Option ID = 1192913]

3. Shiny reflector, shiny bulb [AIHHFR q?ﬁ’c&ﬁ, YHDH R ded [Option ID = 1192914]

4, Temperature will remain same for any combination /fddl it &e & dT9dH HHH B [Option ID = 1192915]

Correct Answer :-
« Black reflector, shiny bulb /®Tdl TRIdd® IHGGR ded [Option ID = 1192913]

15) The ultrasound equipment used for investigating medical problems work at a frequency?

ffeaita guans $t s & forg wain far oM aren serass Susvl fa widdl W) o1 s g2
[Question ID = 314625]

1. below 20 Hz / 20 Bfﬂ JHq [Option ID = 1192916]

2. between 20 Hz and 200000 Hz / 20 Td 200000 §<4 & 4 [Option ID = 1192917]
3. between 2000 Hz and 20000 Hz / 2000 B’&TQH 20000 B'&:I & did [Option ID = 1192918]
4, above 20000 Hz / 20000 g<H ¥ %UX [Option ID = 1192919]

Correct Answer :-
« above 20000 Hz / 20000 T ¥ HUR [Option ID = 1192919]

16) Root hair in the roots of plants

A. help to increase the surface area for greater absorption of water from the soil

B. go deeper into the soil in search of water
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D. hold the soil particles and help the plant stand firmly in the soil.

uit Ft oIl A o8 9

Q. a1 ¥ o1 1 Hfte "Wieq & g wag & 91 sg1 # A/eg 3

. it & @ie # ger § wey W

. STER STHT ST

2. 731 Ui Y gorgd BT AR g1 F 1Y 3 Tear @ @S e § e HAl
[Question ID = 314626]

1. Aand B / € 3R &t [Option ID = 1192920]
2. Aand D/ T 3R Sf [Option ID = 1192921]
3. A, Band C/T, &t 3R It [Option ID = 1192922]
4, A, Cand D/ T, It 3R Sf [Option ID = 1192923]

Correct Answer :-
« Aand D/ T 3R S [Option ID = 1192921]

17) The slope of work-time curve at any instant gives:-

et oft g o9 # WA a9 awy $t ser § ors B Coik ]
[Question ID = 314627]

1. energy / 3ol [Option ID = 1192924]
2. intensity / <igal [Option ID = 1192925]
3. power / SIfdd [Option ID = 1192926]
4, impulse / 31Ta"T [Option ID = 1192927]

Correct Answer :-
« power / Mfad [Option ID = 1192926]

18) A piece of ice at 0°C is added to a vessel containing water at 0°C, then:-

T 1 0 f&3ft |, &1 vw gFst o 3t /. F aruwE ard a9 W STET ST €, Y- [Question ID = 314628]

1. all of the ice will melt /IRY @1 T 9% U9 STEH [Option ID = 1192928]

2. some ice will melt /413! It T fUaa St [Option ID = 1192929]

3. no ice will melt /&% 1t 9% =181 fa=lft [Option ID = 1192930]

4, the temperature will decrease further fdTJHIH 3R i [Option ID = 1192931]

Correct Answer :-

« no ice will melt /&% +ft 0 73T faartt [Option ID = 1192930]

19) The force acting on a mass of 1 g due to the gravitational pull on the earth is called 1 gwt. One
gwt equals ‘
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FRERE

[Question ID = 314629]

1. 1 N [Option ID = 1192932]

2. 9.8 N [Option ID = 1192933]

3. 980 dyne [Option ID = 1192934]

4, none of the above /38 ¥ ®13 el [Option ID = 1192935]

Correct Answer :-
+ 980 dyne [Option ID = 1192934]

20) A truck is loaded with 103 kg of iron and another identical truck is loaded with 103 kg of cotton.
In case both the trucks are to go on the same rough road with the same speed, chances of
overturning of:-

U T 103 framm e & 9y drs frar aman € e HHM ¢F 103 fFaum s & w1y v g5 81
ﬁﬁaﬁﬁaﬁnﬁﬁaﬁmaﬁmww?gﬁ‘mwﬁﬁmél

[Question ID = 314630]

1. both the trucks are same / &IFi €& WH & [Option ID = 1192936]

2. iron trucks are mare / @81 ¢ M g [Option ID = 1192937]

3. cotton trucks are more / HUNI & <& 38 g [Option ID = 1192938]

4. nothing can be decided / % it T =g fawa1 &1 W& g [Option ID = 1192939]

Correct Answer :-
« cotton trucks are more / U & TH 3P & [Option ID = 1192938]

Topic:- JSSC_Set31_GS]

1) First official Chief Justice of Jharkhand state was
FRES I & Ugd SATMUBTNG Y- =qrarii q|

[Question ID = 314011]

1. Vinod Kumar Gupta / fd-1g AR 7T [Option ID = 1190460]
2. Parth Khanna / 112 34T [Option ID = 1190461]

3. Virendra Singh / diX=% Rig [Option ID = 1190462]

4. Gyan Sudha Mishra / ST T f8%T [Option ID = 1190463]

Correct Answer :-
« Vinod Kumar Gupta / fd-l¢ $HR Tl [Option ID = 1190460]

2) The number of villages in Jharkhand is
TR # Tia) B wEn 2l

[Question ID = 314012]
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3. 30620 [Option ID = 1190466]
4. 33520 [Option ID = 1190467]

Correct Answer :-
e 32620 [Option ID = 1190464]

3) Who got the Best MLA award of Jharkhand in 2016?
2016 ¥ FREVS & W49E fAUre &1 RpR fFa wra fEare
[Question ID = 314013]

1. Stephen Marandi / ¥I%- #RiS! [Option ID = 1190468]

2. Pradeep Yadav / U4l T1&d [Option ID = 1190469]

3. Raghuwar Das / ¥4dX g [Option ID = 1190470]

4. Madhav Lal Singh / e e [{#g [Option ID = 1190471]
Correct Answer :-

« Stephen Marandi / &% HRI&l [Option ID = 1190468]

4) In which year Latehar district was carved out from Palamu ?
fra af e o &Y vary | sre fésar mar 2

[Question ID = 314014]

1. 2001 [Option ID = 1190472]

2. 2002 [Option ID = 1190473]

3. 2003 [Option ID = 1190474]

4. 2004 [Option ID = 1190475]

Correct Answer :-

» 2001 [Option ID = 1190472]

5) In which year Betla National Park was notified as National Park ?
Frafafaa # 4 fora o # Saer e sam o Wi S & w0 A siftgfaa fear mar a2
[Question ID = 314015]

1. 1986 [Option ID = 1190476]
2. 1983 [Option ID = 1190477]
3. 1985 [Option ID = 1190478]
4, 1991 [Option ID = 1190479]

Correct Answer :-
« 1986 [Option ID = 1190476]

6) Which female archer from Jharkhand was awarded with Arjuna Award in 2012?
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[Question ID = 314016]

1. Deepika Kumari / <ifidT $HRI [Option ID = 1190480]
2. Asunta Lakra / 3RJdT @& ST [Option ID = 1190481]

3. Laxmi Padiya / @&t uf$al [Option ID = 1190482]

4, Dola Bannerjee / SIdT SISl [Option ID = 1190483]

Correct Answer :-
+ Deepika Kumari / U1 $HRT [Option ID = 1190480]

7) Palkot Wildlife Sanctuary is situated in which district ?
Uraeie geiig Ry fFa e A fRa g ?
[Question ID = 314017]

1. Gumla / TH<I [Option ID = 1190484]

2. Godda / TIIgT [Option ID = 1190485]

3. Deoghar / &d9R [Option ID = 1190486]
4, Koderma / STS3HI [Option ID = 1190487]

Correct Answer :-
o Gumla / THeT [Option ID = 1190484]

8) Before independence the entire area of Purbi Singhbhum district was part of old
district.

e 9 vgdt qdi Rigyd ford o1 wwgef & A Rrd &1 wmT U

[Question ID = 314018]

1. Manbhum / HIHYH [Option ID = 1190488]

2. Bokaro / d1&RI [Option ID = 1190489]

3. Hazaribagh / S9IRIGRT [Option ID = 1190490]
4, Ranchi / i1 [Option ID = 1190491]

Correct Answer :-
« Manbhum / AFYHA [Option ID = 1190488]

9) Tilka Manjhi Rural Pump Scheme was started in the year
Rt wigh amftor veg demr af Fy=gs

[Question ID = 314019]

1. 2016 [Option ID = 1190492]
2. 2013 [Option ID = 1190493]
3. 2015 [Option ID = 1190494]
4, 2017 [Option ID = 1190495]

Correct Answer :-
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10) With respect to Jharkhand legislature, Dinesh Oraon is :-

RS faurisa & wdy ¥, iR g 81

[Question ID = 314020]

1. Speaker of the assembly / faem gyt 3remey [Option ID = 1190496]

2. Minister of Parliamentary Affairs / §H<1g COUREEl [Option ID = 1190497]
3. Leader of opposition / f{d4&f & =dI [Option ID = 1190498]

4. None of these\ 38 ¥ @13 -Tg1 [Option ID = 1190499]

Correct Answer :-
« Speaker of the assembly / [A8TEHT 31eef [Option ID = 1190496]

11) Damodar river does not passes by

IR T R FI6 T el ¢

[Question ID = 314021]

1. West Singhbhum / Tf&#t RigyH [Option ID = 1190500]
2. Dhanbad / ¢<€l¢ [Option ID = 1190501]

3. Giridih / MRXS1E [Option ID = 1190502]

4, Hazaribagh / 39IRIERT [Option ID = 1190503]

Correct Answer :-
« West Singhbhum / af&r} figYH [Option ID = 1190500]

12) What is the geographical area of Hazaribagh District ?
FoRtanT ford &1 Wi dawa fra g 2
[Question ID = 314022]

1. 4302 sq. km / 4302 T fat [Option ID = 1190504]
2. 3302 sq. km / 3302 @ f&H [Option ID = 1190505]
3. 3702 sq. km / 3702 9f f&+ [Option ID = 1190506]
4. 4702 sq. km / 4702 9 f&H! [Option ID = 1190507]

Correct Answer :-
« 4302 sq. km / 4302 g7 f&HH [Option ID = 1190504]

13) Which of the following option is INCORRECT in relation to the periphery of Koderma District ?
Figv R & ofify & way ¥ Fafafee § S o9 o fiea aa g2
[Question ID = 314023]

1. North: Khagaria District (Bihar) /9tR: @isar fora (f[98R) [Option ID = 1190508]
2. South : Hazaribagh District (Jharkhand) / Gf&for: SoTRIENT forell (IRW ) [Option ID = 1190509]
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Correct Answer :-
« North: Khagaria District (Bihar) /34%: @ e (f¥8R) [Option ID = 1190508]

14) Which of the following district forms the southern boundary of Palamu district ?
o A @ 3t 91 forem vamy ford o <fémft b o1 fwfu s g 2
[Question ID = 314024]

1. Latehar / ©IdeR [Option ID = 1190512]

2. Garhwa / TTedT [Option ID = 1190513]

3. Chatra / 9IdXT [Option ID = 1190514]

4, Hazaribagh / S9IRISNT [Option ID = 1190515]

Correct Answer :-
« Latehar / @deR [Option ID = 1190512]

_________________________________________________________________________________________________________________________________________ -

15) Which of the following is a major tribe found in Ranchi District ?
T Rorat & P & | S A e wreronfa wrft et 8 2
[Question ID = 314025]

1. Oraon / 3{Rid [Option ID = 1190516]
2. Santhal / YT [Option ID = 1190517]
3. Gond / TS [Option ID = 1190518]

4, Kol / $Id [Option ID = 1190519]

Correct Answer :-
« Oraon / 3RTd [Option ID = 1190516]

16) Which of the following mines is the single largest mine of haematite in the country ?
frafafEa 7 @ 919 o @em T § s (diE- 3UP) O Had 95l @S § ?
[Question ID = 314026]

1. Chiria / fafd1 [Option ID = 1190520]
2. Jharia / FIRAT [Option ID = 1190521]
3. Raniganj / YIS [Option ID = 1190522]
4, Barora / SRIRT [Option ID = 1190523]

Correct Answer :-

« Chiria / faR@r [Option ID = 1190520]

17) Which of the following combinations given in the option is incorrect ?

frrri A R M Ay oA A APT AT TadE ?
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1. Pheruaghagh - North Koel / ¥3{TdTd - 3tR $1Ud [Option ID = 1190524]
2. Hundru Fall - Subarnarekha River / §S%& SaqUTd - Wﬁ'@ﬂﬁ [Option ID = 1190525]
3. Dassam Fall - Kanchi River / G219 STaYUTd - &1l el [Option ID = 1190526]

4, Sadni -Sankh / Y&l - =@ [Option ID = 1190527]

Correct Answer :-
« Pheruaghagh - North Koel / B53{TaTd - TR S1Ad [Option ID = 1190524]

18) In how many Agro-ecological regions, state of Jharkhand has been divided?
FRES I B fraa pi-uiifRufae &= A fRwnfoa fFormar g 2
[Question ID = 314028]

1. 7 [Option ID = 1190528]
2. 5 [Option ID = 1190529]
3. 6 [Option ID = 1150530]
4, 8 [Option ID = 1190531]

Correct Answer :-
« 7 [Option ID = 1190528]

19) Zeeshan Quadri, a well known filmmaker and story writer was born in

Wi freaR ok FuTeR S s &1 9= H g3 YT
[Question ID = 314029]

1. Wasseypur / dIIGX [Option ID = 1190532]

2. Giridih / fIRE18 [Option ID = 1190533]

3. Dhanbad / Y€l [Option ID = 1190534]

4, Jamshedpur / STHYEYR [Option ID = 1190535]

Correct Answer :-
« Wasseypur / 9R¥IGR [Option ID = 1190532]

20) Dhanbad district was constituted in
ta1E ford &1 1A o farar T Y11
[Question ID = 314030]

1. 1956 [Option ID = 1190536]
2. 2001 [Option ID = 1190537]
3. 1977 [Option ID = 1190538]
4. 2003 [Option ID = 1190539]

Correct Answer :-
s 1956 [Option ID = 1190536]
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HIRATY I T9ell4ld a9 H I H HTUT YII

[Question ID = 314031]

1. 1926 [Option ID = 1190540]
2. 1947 [Option ID = 1190541]
3. 1950 [Option ID = 1190542]
4. 1956 [Option ID = 1190543]

Correct Answer :-
» 1926 [Option ID = 1190540]

22) After the British conquest of Kolhan in 1837, Singhbhum was formed with asits
headquarters.

1837 & Fiegw 3} iR faea ¥ a1e, Rigyw 1 767 gan ok &Y YRATE FTAT T
[Question ID = 314032]

1. Chaibasa / SIS€THT [Option ID = 1190544]
2. Saraikela / §d el [Option ID = 1190545]
3. Bokaro / §l&RI [Option ID = 1190546]

4, Mayurbhanj / FGIHST [Option ID = 1190547]

Correct Answer :-
« Chaibasa / IrSamEl [Option ID = 1190544]

23) The dance usually permormed in Machuaa Mahotsava in Jharkhand is

FREUS # Tfora Agen Asieqa # AR Jod WeiRia frar wman 8|
[Question ID = 314033]

1. Bhaduriya / YTgRAT [Option ID = 1190548]

2. Bangla Jhumar / SI%T R [Option ID = 1190549]
3. Fagua / T[31T [Option ID = 1190550]

4. Natuva / -gdl [Option ID = 1190551]

Correct Answer :-
« Bhaduriya / HIGRAT [Option ID = 1190548]

24) Mukunda Nayak is popular for which of the dance forms ?
qPe 0% fpa Ta Mt F R defae ?
[Question ID = 314034]

1. Mardaani Jhumar / H&-t R [Option ID = 1190552]
2. Angnai / 3{THTS [Option ID = 1190553]

3. Kali/ @il [Option ID = 1190554]

4. Natuva Naach / -Igdl I [Option ID = 1190555]
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- riaidaaln Jridinail § ovisgirtn Q\‘"I\ L\JIJI..IUII AL = J.J.:'U.JJLJ

25) In Natuva dance, the turban used is commonly known as in Panch Pargana
area.

AT A ¥ Ugad Wt & U™ URET 87 W " el WAl 8|

[Question ID = 314035]

1. Kaalga / @I [Option ID = 1190556]
2. Pag / U [Option ID = 1190557]

3. Pagdi / UTSt [Option ID = 1190558]
4, Topi / €14l [Option ID = 1190559]

Correct Answer :-
» Kaalga / DT [Option ID = 1190556]

26) Jharkhand-based writer Dr. Dwarika Prasad mainly writes in

FREUS HTUIRE dES S1. g1 vH1E gerE: T e o1l Bva B

[Question ID = 314036]

1. Hindi / f&<I [Option ID = 1190560]
2. Ho / @1 [Option ID = 1190561]
3. Santhali / HYTc [Option ID = 1190562]

4. Nagpuriya / TFTgRAT [Option ID = 1190563]

Correct Answer :-
« Hindi / &<l [Option ID = 1190560]

27) Buru festival is usually celebrated in the month of

% 74 wE: HTE & HATYT I B |

[Question ID = 314037]

1. December / f&HTR [Option ID = 1190564]
2. July / S[ciTs [Option ID = 1190565]

3. September / RidwR [Option ID = 1190566]
4. April / 313 [Option ID = 1190567]

Correct Answer :-
« December / f¢HTR [Option ID = 1190564]

28) What is the amount alloted for GENDER BUDGET for financial year 2017-18 in the state of
Jharkhand ?

RS T4 | fasita af 2017-18 F forw Svew (feim) wore & fow smdfea T g 2
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1. Rs. 7685 crore / ¥.7685 ®118 [Option ID = 1190568
2. Rs. 5084 crore / ¥.5084 @IS [Option ID = 1190569]
3. Rs. 6758 crore / ¥.6758 &g [Option ID = 1190570]
4. Rs. 6340 crore / ¥.6340 ®RIs [Option ID = 1190571]

Correct Answer :-
« Rs. 7685 crore / ¥.7685 TS [Option ID = 1190568]

29) In the state budget of Jharkhand for financial year 2017-18 which of the following city has been
approved for establishment of AIIMS ?

fatuaf 2017-18 F U sIREsS T F o A FHIFT A A ST A T TR S MM F A S 1S 5
[Question ID = 314039]

1. Deoghar / &d9X [Option ID = 1190572]

2. Ranchi / 3=l [Option ID = 1190573]

3. Jamshedpur / STHRIGYR [Option ID = 1190574]
4. Ramgarh / IM g [Option ID = 1190575]

Correct Answer :-
« Deoghar / =R [Option ID = 1190572]

30) What is the full form of NRDWP ?
NRDWP &1 Quf U #1 8 ?
[Question ID = 314040]

1. National Rural Drinking Water Programme / wg‘m U1 U1 Ygeicl diA$H [Option ID = 1190576]

2. National Rural Development Work Programme / ?FQTH T fdere e SrdeH [Option ID = 1190577]
3. National Rapid Development Work Programme / 1819 XU Sacutic e WM [Option ID = 1190578]
4. National Region Drinking Water Programme / 1814 & Ugsiel SRish [Option ID = 1190579]

Correct Answer :-
« National Rural Drinking Water Programme / JT1d JTHIUT Ugeiel S1ishH [Option ID = 1190576]

Topic:- JSSC_Set31_MAnLR

1) How many numbers from 11 to 50 are there which are exactly divisible by 7 but not divisible by
3?

11 9 50 9% fal J@m § 9t i 7 @ Rer fdurss § wg 3 @ Rusa =g g 2
[Question ID = 314531]

1. 2 [Option ID = 1192540]
2. 4 [Option ID = 1192541]
3. 5 [Option ID = 1192542]
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Correct Answer :-
+ 4 [Option ID = 1192541]

2) Pointing towards a boy, Veena said, "He is the son of my grandfather." How is that boy related to
Veena?

U T5F B 3R FART B U AT A FgT, "qg AA QI FTI2T 8 |"SAasp A A e war g 2
[Question ID = 314532]

1. Uncle / 3{&d [Option ID = 1192544]

2. Brother / T3 [Option ID = 1192545]

3. Cousin / TART HT§ [Option ID = 1192546]

4, Data inadequate / Sﬂﬁ SJUYd g [Option ID = 1192547]

Correct Answer :-
« Brother / YT [Option ID = 1192545]

3) How many independent words can be formed without changing the order of the letters and using
each letter only once?

CAPABILITY

m;.:sﬁn.%nvwﬂa{aﬁmmaaﬁﬁmaﬁ?uﬁﬁmﬁraﬁawaﬂmmﬂ?ﬁmﬁwwm
Sl 2

[Question ID = 314533]

1. One / Ush [Option ID = 1192548]
2. Two / @l [Option ID = 1192549]

3. Three / oI [Option ID = 1192550]
4, Four [ dR [Option ID = 1192551]

Correct Answer :-
« Two /Gl [Option ID = 1192549]

4) If the day before yesterday was Saturday, what will be the day after tomorrow?

gfe Wt AER 41 @t uwl Si9-41 &9 871 2 [Question ID = 314534]

1. Friday / YshdR [Option ID = 1192552]
2. Saturday / [IMER [Option ID = 1192553]
3. Sunday / IfddR [Option ID = 1192554]
4. Tuesday / HTddR [Option ID = 1192555]

Correct Answer :-
« Sunday / YfddR [Option ID = 1192554]

5)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

WM MTEE A EEEIENRE B WAL ATWEIEA S W WISRA EETNE AFE W NI ITEE ke ACNE REITERA Y Inr N mE W A mE R EReE W s = wemers wenan gE wan

which day of February is Ram's brother's?

M &) U1E ¢ 6 IHP HIE o1 T 15 & 91¢ dfh 18 Wil & Ugd Usdl ¢ Siafeh 9@ 98 SHfir o1
m%%%m UTS BT 9T 16 & 91¢ W 19 A} & U5d USdl & | Bead & fbg e v & wig &t
Slea g ?

[Question ID = 314535]

1. 16t / 16di [Option ID = 1192556]
2. 17t / 1741 [Option ID = 1192557]
3. 18t / 184i [Option ID = 1192558]
4, 19t 7 1947 [Option ID = 1192559]

Correct Answer :-
. 17”‘/ 1741 [Option ID = 1192557]

6) Sunita ranked 11th from the top and 27" from the bottom in a class. How many students are in
the class?

FATT A F&1 A SR A 1137 iR T I 2797 A v 51 | sand fFaa o e |
[Question ID = 314536]

1. 38 [Option ID = 1192560]
2. 28 [Option ID = 1192561]
3. 40 [Option ID = 1192562]
4, 37 [Option ID = 1192563]

Correct Answer :-
» 37 [Option ID = 1192563]

7) If each of the odd digits in the number 5 4 6 3 8 is decreased by 1 and each of the even digits is
increased by 1, then which of the following will be the sum of the digits of the new numbers?

Tfe 5 4 6 3 8 3P| A TP AU 3iF A 1 B FH <l 8 3R YT TH T&N A 1 9¢ W1 ¢ a1 715 Hen &
37T BT TN 1§ ?

[Question ID = 314537]

1. 26 [Option ID = 1192564]
2. 28 [Option ID = 1192565]
3. 29 [Option ID = 1192566]
4, None of the above / 3U4dd # ¥ $I3 g [Option ID = 1192567]

Correct Answer :-
« None of the above / I9gad & ¥ 15 g1 [Option ID = 1192567]

8) How many times in a day, the two hands of a clock coincide?
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1. 11 [Option ID = 1192568]
2. 12 [Option ID = 1192569]
3. 22 [Option ID = 1192570]
4, 24 [Option ID = 1192571]

Correct Answer :-
« 22 [Option ID = 1192570]

9) In a group of cows and hens, the number of legs are 14 more than twice the number of heads.
The number of cows is:

TR SR gt & uer wge A WRY o wen R ) wen & 14 sifte 81 Al ot wen wu gt
[Question ID = 314539]

1. 5 [Option ID = 1192572]
2. 7 [Option ID = 1192573]
3. 10 [Option ID = 1192574]
4. 12 [Option ID = 1192575]

Correct Answer :-
e 7 [Option ID = 1192573]

10) A student got twice as many sums wrong as he got right. If he attempted 48 sums in all, how
many did he solve correctly?

e faendf & oiiaA sare w6t frd 39 g o e it 39 oo ey 48 vy fFu e, o e A adt
IW fraa &

[Question ID = 314540]

1. 12 [Option ID = 1192576]
2. 16 [Option ID = 1192577]
3. 24 [Option ID = 1192578]
4, 18 [Option ID = 1192579]

Correct Answer :-
« 16 [Option ID = 1192577]

11) A shepherd had 17 sheep. All but nine died. How many was he left with?

TS TRaTe & U 17 93 ff | 398 A Y #) s o1 g W 75| I6P U fHa-t 4 st ghiit? [Question ID
= 314541]

1. 0 [Option ID = 1192580]
2. 8 [Option ID = 1192581]
3. 9 [Option ID = 1192582]
4, 17 [Option ID = 1192583]

Correct Answer :-
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12) I start from my home and go 2 km straingt. Then, I turn towards my right and go 1 km. I turn
again towards my right and go 1 km again. If I am north-west from my house, then in which
direction did I go in the beginning?

# 3 R W oy 2 et e mam ey & et @ ok |37 oY 1 fdt =am # fif @ oA ard o
Ho1 3R 1 fHt Tam afe & o W A SwR-ufdm fexn & §, <t yeema & # 9 fa=m & mar ur? [Question ID
= 314542]

1. North / 37X [Option ID = 1192584]
2. South / Sf30T [Option ID = 1192585]
3. East / 4d [Option ID = 1192586]

4, West / Ui [Option ID = 1192587]

Correct Answer :-
« West / f3H [Option ID = 1192587]

13) One morning after sun-rise, Reeta and Kavita were talking to each other face to face at Broad
Square. If Kavita's shadow was exactly to the right of Reeta, which direction Kavita was facing?

S 37 gag Wuiew ¥ arg dar ok wfaan s Ww W) U gl & am 4e e a o w@t off ) afe sfaar
o worg da 9t fdaga o ok & at wiar o1 4z fa fazm & g

[Question ID = 314543]

1. North / 37X [Option ID = 1192588]

2. South / Ef&UT [Option ID = 1192589]

3. East / Gd [Option ID = 1192590]

4, Data is inadequate / STHRT 99T g [Option ID = 1192591]

Correct Answer :-

» North / 3™ [Option ID = 1192588]
14) If '+’ denotes *x’; -’ denotes '+"; *x’ denotes ‘+’, and +’ denotes -’ In the given expression,

which one is correct?

gfe + &1 3k *x %y — BT 3 2 % BT 3 '+, 3R+ 1 3 — g ol Wt fAPHeq T TUT B [Question ID
= 314544]

1. 15 + 4 -8 x 5 = 15 [Option ID = 1192592]

2.10+5-5+5 x5 =10 [Option ID = 1192593]
3.20+ 77 + 7 x 5 = 18 [Option ID = 1192594]
4.10 + 8—8 + 8 x 8 = 25 [Option ID = 1192595]

Correct Answer :-
e 10+5-5+5x5=10[Option ID = 1192593]

15) Which sequence of mathematical symbols can be placed at question mark (?) in the given
equation to correct the equation?
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282714?767?78?7107?40

[Question ID = 314545]

1. -, +, +, +, = [Option ID = 1192596]
2. X, +, =, +, = [Option ID = 1192597]
3. 4+, —, X =, x [Option ID = 1192598]
4, +, +, X, =, = [Option ID = 1192599]

Correct Answer :-
e +,+H X, 5= [Optlon ID = 1192599]

16) How many triangles are there in the given figure?

& ¢ enpfa & fraat Ryw 82

[Question ID = 314546]

1. 10 straight lines and 34 triangles / 10 el ¥@1 3R 34 YT [Option ID = 1192600]
2. 9 straight lines and 34 triangles / 9 Tt X1 3R 34 Ay [Option ID = 1202614]
3. 9 straight lines and 36 triangles/ 9 el ¥@T1 3MR 36 HYW [Option ID = 1202616]
4. 10 straight lines and 36 triangles / 10 el 3@ 3R 36 Y [Option ID = 1202617]

Correct Answer :-
« 9 straight lines and 36 triangles/ 9 ¥fiefi ¥@1 3R 36 33 [Option ID = 1202616]

17) In the question given below one term is missing. Based on the relationship of the two given
words/letters find the missing term from the given options.

4 few o vy # v g qud 81 Ry mu i wed)/ e & el F SmyR W 3w U e § @ qw ug 3a
Fiom|

PNL): IGEC::USQO :?
[Question ID = 314547]

1. HILN [Option ID = 1192604]
2. LNJH [Option ID = 1192605]
3. NLJH [Option ID = 1192606]
4, JHNL [Option ID = 1192607]

Correct Answer :-
« NLJIH [Option ID = 1192606]
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2 & firg 5t wve W Fm SmaTm?
4 9 1 86
2 5 3 30
11 6 7 54
10 8 6 ?

[Question ID = 314548]

1. 72 [Option ID = 1192608]
2. 48 [Option ID = 1192609]
3. 91 [Option ID = 1192610]
4, 80 [Option ID = 1192611]

Correct Answer :-
« 80 [Option ID = 1192611]

_________________________________________________________________________________________________________________________________________ -

19) Five bells begin to toll together and toll respectively at intervals of 6, 5, 7, 10 and 12 seconds.
How many times will they toll together in one hour excluding the one at the start?

ue ufedl us 91y 9eid! & 3 BHT: 6, 5, 7, 10 3 12 Vs & v | goidl § | YRl @i i Bsee
U 4e¢ § 98 U 1Y fha-l IR Tuivi?

[Question ID = 314549]

1. 7 [Option ID = 1192612]
2. 8 [Option ID = 1192613]
3. 9 [Option ID = 1192614]
4. 10 [Option ID = 1192615]

Correct Answer :-
« 8 [Option ID = 1192613]

20) Varun was born two years after his father's marriage. His mother is five years younger than his
father but 20 years older than Varun who is 10 years old. At what age did the father get married?

TV BT 5H SHS fUa1 B1 S & & T1d 916 G UTI IHSH AT 39 a1 | v 9191 81 @ Afpa sz d
20 WA 991 81 I¥0 $1 IY 10 I &1 S F IAY far 9 39 7 enfiz

[Question ID = 314550]

1. 23 years / 23 @9 [Option ID = 1192616]
2. 25 years / 25 99 [Option ID = 1192617]
3. 33 years / 33 @Y [Option ID = 1192618]
4, 34 years / 34 94 [Option ID = 1192619]

Correct Answer :-
« 23 years / 23 9 [Option ID = 1192616]
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1) Shivangi buys a watch for Rs. 800 and sells it to Shalu at 15 % profit. Shalu sells it to Nandini for
5 % profit. Nandini uses it for two years and then sells it to Preeti at a loss of 25 %. For how much
does Nandini sells the watch to Preeti?

Rrairt 3 udt 800 .4 W iR 15% Ty ARfa & g F IT | 5% U F il g A I/ Al
?ﬂ:pﬁml fet 3 SweT 2 af Syah fara SR 25% &1f R Wi & 39 2| Afesit 3 v, fidt #1 fpaa &

[Question ID = 313951]

1. Rs.724.5 / 3. 724.5 [Option ID = 1190219]
2. Rs.1207.5 / ¥. 1207.5 [Option ID = 1190220]
3. Rs. 1449 / %. 1449 [Option ID = 1190221]
4, Rs. 362.25 / . 362.25 [Option ID = 1190222]

Correct Answer :-
e Rs.724.5 /3. 724.5 [Option ID = 1190219]

2) Find the least number of square of tiles required to pave the rectagular hall of 150 m x 130 m?
150 1l x 130 1t & T SMUATER Bld W e15d oM & o =gAaw feradt anfer egeal @t smazasar gnfiz
[Question ID = 313952]

1. 195 [Option ID = 1190223]
2. 100 [Option ID = 1190224]
3. 200 [Option ID = 1190225]
4. 150 [Option ID = 1190226]

Correct Answer :-
e 195 [Option ID = 1190223]

3) What is the ratio whose terms differ by 35 and the measure of which is in ratio 2/7?
I TS BT 7 T1a B forAd di BT a7 35 Ud UHER HIF &7 34| 2/7 § ?
[Question ID = 313953]

1. 14:49 [Option ID = 1190227]
2. 7:35 [Option ID = 1190228]

3. 07:42 [Option ID = 1190229]
4. 14:56 [Option ID = 1190230]

Correct Answer :-
» 14:49 [Option ID = 1190227]

4) If the annual rate of simple interest increases from 10% to 12%, a man's yearly income
increases by Rs 1,000. His Principal (in Rs.) will be


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

[Question ID = 313954]

1. 50000 [Option ID = 1190231]
2. 500000 [Option ID = 1190232]
3. 5000 [Option ID = 1190233]
4, 60000 [Option ID = 1190234]

Correct Answer :-
= 50000 [Option ID = 1190231]

5) If 25% of (x-y) = 15% of (x+y) then what percentage of x is y?
Tfe 25% (x-y) = 15% (x + y) a1 'y, 'x* @1 fra=n ufowre 82
[Question ID = 313955]

1. 25 [Option ID = 1190235]
2. 400 [Option ID = 1190236]
3. 100 [Option ID = 1190237]
4. 50 [Option ID = 1190238]

Correct Answer :-
« 25 [Option ID = 1190235]

6) Find the value of 6.2345 x 41.20 + 33.20?
6.2345 x 41.20 + 33.20 BT °E JTd $I?
[Question ID = 313956]

1. 280.05 [Option ID = 1190239]
2. 290.06 [Option ID = 1190240]
3. 292.07 [Option ID = 1190241]
4. 290.6 [Option ID = 1190242]

Correct Answer :-
« 290.06 [Option ID = 1190240]

7) Ritu can do a piece of work in 10 days. Megha is 25% more efficient than Ritu. Find the number
of days taken by Megha to do the same amount of work.

Bq TS o174 D1 10 27 § quf 3 Tl 8| 91, B 25% SIS &HaT A F $T TPd! & of Aar A1 340t
B 1 guf s A faraa R &1 v e

[Question ID = 313957]

1. 4 days / 4 T [Option ID = 1190243]
2. 7 days / 7 131 [Option ID = 1190244]
3. 6 days / 6 &1 [Option ID = 1190245]
4. 8 days / 8 {1 [Option ID = 1190246]
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T ouUays>/ O Ivwl [VPUUIL LW = 117Us10]

8) A boat covers a certain distance upstream in one and a half hours and the same distance
downstream in one hour. What is the speed (in km/h) of the boat in still water if the speed of the
stream is 3 km/h?

TS 19 U i3 g3t Sedvare # 27 ue 7 &R 96 g¥ erqvae # ve 92 O 7y $edl g afe YR $ 9rer 3
foreft/dier 8, oY i oTa # a3 wfy (i den) # = anfte

[Question ID = 313958]

1. 16 [Option ID = 1190247]
2. 17 [Option ID = 1190248]
3. 12 [Option ID = 1190249]
4, 15 [Option ID = 1190250]

Correct Answer :-
= 15 [Option ID = 1190250]

9) In this question, the relationship between different elements is shown in the statements.The
statements are followed by two conclusion.

(a) if only conclusion (i) is true
(b) if only conclusion (ii) is true
(c) if neither conclusion (i) nor (ii) is true
(d) if both conclusion (i) and (ii) are true
Statement:-T<P=<U;L>U=<K;P=>R
Conclusion:- (i) K=>R
(i)L>R

39 vy &, B aaf & g o Hdy syt & gr1 ot man 8| w3El & arg fAwed e e §)
(a) R Fread (i) oo 8
(b) R forsed (i) g &
(<) = Frsd (i) i =1 &t Foread (i) W 8
(d) P (i) ofR (i) ST 9 &
FYT-T<P=<U;L>U=<K;P=>R
fAerd:- () K=>R

(i)L>R
[Question ID = 313959]

1. a [Option ID = 1190251]
2. b [Option ID = 1190252]
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Correct Answer :-
s d [Option ID = 1190254]

10) If each interior angle of a regular polygon is 6/5 times each angle of a regular hexagon, then
what is the number of sides in the polygon?

Hﬁﬁﬂﬁgﬁgﬂﬁmwﬁ:aﬁmﬁﬁm&w%aﬁ:ﬁm%wsw%a}mwaﬁwﬁaﬂ
HEAT T &7

[Question ID = 313960]

1. 10 [Option ID = 1190255]
2. 15 [Option ID = 1190256]
3. 20 [Option ID = 1190257]
4. 5 [Option ID = 1190258]

Correct Answer :-
« 10 [Option ID = 1190255]

11) If corresponding sides of two similar triangles are in the ratio 16:9, then what is the ratio of its
area?

gfe <1 I YS! B S Fd Yerneil # SuTd 16:9 €, df 3% ATFEl H U HT €72
[Question ID = 313961]

1. 256:81 [Option ID = 1190259]
2. 81:256 [Option ID = 1190260]
3. 16:9 [Option ID = 1190261]
4, 9:16 [Option ID = 1190262]

Correct Answer :-
e 256:81 [Option ID = 1190259]

12) If a transversal line cuts two parallel lines then bisector of internal angle formed a

ﬁmmﬁwm%ﬁmmmﬁaﬁ,mﬁ: Fi & fFuree Frfafaa A A -
T 2

[Question ID = 313962]

1. rectangle / 3{1¥d [Option ID = 1190263]

2. square / @ [Option ID = 1190264]

3. rhombus / FIIITQHGI [Option ID = 1190265]

4. parallelogram / TH-R IS [Option ID = 1190266]

Correct Answer :-
» rectangle / 3{dd [Option ID = 1190263]
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faddsmaas?

[Question ID = 313963]

1. tan x > 1; 45° < x < 90° [Option ID = 1190267]
2.sin x > 1/2; 60° < x < 90° [Option ID = 1190268]
3. cos x > 1/2; 60° < x < 90°> [Option ID = 1190269]
4. cot x = 1; x = 90° [Option ID = 1190270]

Correct Answer :-
e tan x > 1; 45° < x < 90° [Option ID = 1190267]

14) If sin (X+Y) = 1 and cos (X-Y) = 1, then the possible values of X and Y are respectively
B when (0°<X, Y < 90°).

Tfe sin (X+Y) = 1 Td cos (X-Y) = 1 §, a1 X €4 Y & THIfad A9 HAT: , g, e
(0°<X, Y < 90°) 8]

[Question ID = 313964]

1. 90°, 0° [Option ID = 1190271]
2. 45°, 45° [Option ID = 1190272]
3. 60°, 30° [Option ID = 1190273]
4, 45°, 30° [Option ID = 1190274]

Correct Answer :-
« 45°, 45° [Option ID = 1190272]

15) If sin 2A = cos (A-60), then what will be the value of A?
Tfe sin 2A= cos (A-60) €, T A T W =T §IIT?
[Question ID = 313965]

1. 50° [Option ID = 1190275]
2. 60° [Option ID = 1190276]
3. 70° [Option ID = 1190277]
4, 80° [Option ID = 1190278]

Correct Answer :-
= 50° [Option ID = 1190275]

16) Find the area of a rhombus one of whose diagonals measures 18 cm and the other 20 cm?

& GHAgUT BT &% J1d $¢ RraeT te fawf 18 A.1f. we s fawof 20 A 82

[Question ID = 313966]

1. 180 cm? \ 180 ¥.#1.2 [Option ID = 1190279]
2. 360 cm? \ 360 .11.2 [Option ID = 1190280]
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Correct Answer :-
« 180 cm? \ 180 9.11.2 [Option ID = 1190279]

17) The C.P of an article is 80% of the S.P. The percent that the S.Pis of C.P is
it wmwht @1 W g, fawa Ueu & 80% & R ¢ sy gw, v g &1 fan ufoma &2
[Question ID = 313967]

1. 125 [Option ID = 1190283]
2. 100 [Option ID = 1190284]
3. 80 [Option ID = 1190285]

4, 150 [Option ID = 1190286]

Correct Answer :-
s 125 [Option ID = 1190283]

18) Three numbers are in ratio 3:2:5 and the sum of their squares is 1862 then the value of the
largest number is

A dEnsi FTequa 3:2:5 e @S e STANT 1862 el qEA TSI H@T |
[Question ID = 313968]

1. 35 [Option ID = 1190287]
2. 21 [Option ID = 1190288]
3. 49 [Option ID = 1190289]
4. 14 [Option ID = 1190290]

Correct Answer :-
« 35 [Option ID = 1190287]

19) The value of a machine depreciates at the rate of 10% per year. If the present value is Rs.
65,610. What was the value of the machine 4 years ago?

TS AR o1 e ufa a6 10% $1 ¥ | S[@ayea gidr g1 afe IaH 9o 65,610 $0d ¢ of 4 a¥ ugd A==
TS (FUA H) T 4R

[Question ID = 313969]

1. 100000 [Option ID = 1190291]
2. 110000 [Option ID = 1190292]
3. 140000 [Option ID = 1190293]
4. 120000 [Option ID = 1190294]

Correct Answer :-
« 100000 [Option ID = 1190291]
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(68.237)2-(31.763)2®THF B

[Question ID = 313970]

1. 3647.4 [Option ID = 1190295]
2. 364.74 [Option ID = 1190296]
3. 36.474 [Option ID = 1190297]
4. 365.74 [Option ID = 1190298]

Correct Answer :-

« 3647.4 [Option ID = 1190295]
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